HENEREREHES

Mt

SH4E5H258 (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 238 <IN 5,810.1 60 20
£S5 260.2 500 339
HAH LA 80.2 258 23
JUALA 570.6 420 20
LEFLA 43.8 300 32
TFELSHLA 458.2 525 61
=RHLA 371.2 345 20
IALA 37.4 375 100
<aHLA 44.7 450 50
HSRALA 1,494.0 115 20
ELoo 86.0 89 20
FAALY 438.9 1,414 555
<7+ 120.4 1,500 801
IVAVTAFX 44.1 70 20
F7>0 1,054.7 133 20
HIHS 286.0 36 20
TAF X 58.4 861 60
FHLY 50.0 3,989 300
sV 76.5| 30,000 | 11,111 [Gn "
AAHYT 265.1 710 20
ZILAA T3 302.0 229 55
ZILAA F%E 35.0 1,500 850 [gim . e

IS 6,177.4




6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =
S 23% UL 7 2,065.8 911 200
7 U JAE 795.0 4,444 2,401 [F0 o
S RUAH 49.3 560 456
== 45.6 115 90
=X43 36.9 773 119
vFEST 2,957.8 710 69
AFF<3 609.5 2,600 1,000
EHE 10,671.5




[f¥fa] (BT ¢ kg )

PEE S =V e B E = fE 7 fE " &
BIERRIE 167€ |5/ 155.2 200 20
Y 73.7 203 69
ESX 2,077.4 649 100
AAZHLA 64.3 809 300
VLA 133.2 279 159
LEALA 475.7 301 20
NALA 143.7 315 123
N3aBLA 110.7 400 20
HSRAALA 620.8 150 20
*OoF 49.4 111 30
N1 303.6 700 101
FIA 63.0 230 20
7> 4,430.3 150 30
HFHS 192.4 36 20
>0OX/)ULb 399.1 843 569
RAXF 1,377.6 444 150
dEZHAN 183.5 120 21
RORD 389.9 1,000 20
N bS5 A 98.8 300 81
ESYAHZ 152.7 600 180
Y= 29.2 4,200 700
ERVHA 82.9 390 123
itiE 2% TIAVTAFA 20.4 110 20
>0OX/)0L 21.4 680 640
INGHERE 11,648.9




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = B Z B " =
0 5% >0O%4/) UL 119.2 900 666
RER 47% 7HU 594.1 600
Bk 2% 7oe 3.6 18,000 10,000

D
[ =]

1§ 12,365.8




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 23% <7+ 276.9 2,300 1,500
EEXFE 167E £S5 10,511.1 700 200
ASHLA 168.7 300 200
<IALA 320.0 3,500 200
<A A 701.9 1,200 200
RZF 3,087.0 550 250
NS0 18.9 1,500 500
CHE 15,084.5




